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RCE 2 — L& ¢ 200 (103kg/2m)

400+400+400 90kg/%:

ARV -MATR

0.8 + 0.8 +

kAR -MATR

1.0 + +

kAR -MATR

—REERRRMME 250 37 4kg/m(HERE)

& L

HEREE

t=4cm RAMKRVOERMIKT L Y

MEEEHES. BitkR& Y

6.9

+

+

13.0

(3.142/4)%(0. 2472-0. 2072) *2. 6

[LEY DR Y-

[LEY DR Y

2.8

HE-EyEL

#|EFIVYY-+  2350kg/m3

* 0.820 —+

10.0

|EHY)-MATE A3

90.0 +

0.026 =*

0.021 =

2500

1.6

1.0

#®Evy)-MARR &

0.037 =

10.0

5.99
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0.80 0. 0.
20. 00 0. 0. 0.50 .30 19. 2 9. 5.
26. 50 0. 0. 0.50 .35 6.5 3. 2.
40. 00 0. 0. 0.45 .35 13.5 6. 4,
49. 30 0. 0. 0. 40 .30 9.3 3. 2.
60. 00 0. 0. 0. 45 .35 10. 7 4, 3.
69. 20 0. 0. 0.50 .40 9.2 4, 3.
72. 20 0. 0. 0.50 .35 3.0 L. L.

73. 80 0. 0.
80. 00 0. 0. 0.70 .25 6.2 4, L.
85. 60 0. 0. 0. 60 .20 5.6 3. L.
oK p0.4 G2-500%500%700 L. 0.
p73.0 G2-500%500%500 L. 0.
p86.0 G2-500%500%500 L. 0.
NEF 45. 28.
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(0.766 +
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0.561 =
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0.910 )* 0.150
0.561 )* 0.566
0.673 )* 0.100

0.766 )* 0.566
0.673 )* 0.100
0.561 )* 0.566
0.320 + 0.673
0.100 * 2.000

RAKBEERLY

* 1/2 * 0.520

* 1/2
* 1/2
* 1/2
* 1/2
* 1/2
* 0.520
+ 0.773

*

*

*

0. 100
0.520

0.089

2.000

2.000

2.000

0.320

0.089

0.910

* 2.000

* 0.100

total
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total

* 0.520

HR {7k BRA

0. 066

0.052

0.032

-0. 009
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0.144
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RAKBEERLY

(0.801 + 0.834 )% 0.150 = 1/2
(0.340 + 0.437 )* 0.623 =* 1/2
(0.437 + 0.549 )% 0.100 = 1/2

BIER E 1 —LE ¢ 250

(0.472
( 0.630
( 0.340

0.437 =*

+

+

+

0. 866

*

BIER E 1 —LE ¢ 250

0.630
0.549
0. 437
0.320
0.100

)* 0.623
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+ 0.549
* 2.000

* 1/2
* 1/2
* 1/2
* 0.520
+ 0. 801

*

*

*

*
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0.100 * 2.000
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0.088 * 0.100
total

2.000

2.000

2.000

0.320
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total

0.834 * 0.520

B{tKEEB

0.064

0.048
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-0. 009

0.129

0.687

0.118

0.484
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(0.795 + 0.827 )* 0.150 = 1/2
(0.340 + 0.429 )% 0.623 =* 1/2

(0.429 +

BIER E 1 —LE ¢ 250

(0.472
( 0.621
( 0.340

0.429

+

+

+

*

0.854

*
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0.541 )* 0.100
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*
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0.100 * 2.000

0.520
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0.639
0.523
0.270
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+ 0.639
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RAKBEERLY

1/2 * 0.470
1/2 * 0.100
1/2 * 0.470

0. 055

* 1/2 * 2.000
* 1/2 * 2.000
* 1/2 * 2.000
* 0.470

+ 0.971 % 0.270

0. 055

0.999

* 2.000

* 0.100

total

* 2.000

total

* 0.470

HR{t /K #&D

0.069

0.073

0.027

-0. 006

0.163

0.988

0.133

0.732

0.442

0.4717

-0.110

2.662
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0.0~ (0.43 + 0.4 ) *x1/2 x 19.2 = 8.4
20.0~ ( 0.44 + 044 ) x1/2 * 6.5 = 2.9
20. 0+6. 5~ ( 0.44 + 043 ) *x1/2 x 13.5 = 5.9
40.0~ (0.43 + 044 ) *x1/2 x 9.3 = 4.0
40. 0+9. 3~ ( 0.44 + 043 ) x1/2 x 10.7 = 4.7
60.0~ ( 0.43 + 044 ) *x1/2 x 9.2 = 4.0
60. 0+9. 2~ ( 0.44 + 043 ) *1/2 x 3.4 = 1.5
13.0~ ( 1.04 + 1.04 ) *x1/2 x 6.6 = 6.9
80.0~ ( 1.04 4+ 097 ) *x1/2 *x 5.6 = 5.6
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
( + ) x 1/2 % = 0.0
K BHED 0.28 + 028 + 0.28 = 0.8 m2
total = 44.7 m2
21173 73.0~86. OXfE12. 2mD L[E & TREIFEME LVED HHMR0. AmZERT 5

0. 40 * 12.2 = 4.9 m2





